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BU, hEZR.U, (ERTR . HLREEAHRAZEREDU? =a +8U) FFEBHAU, = U,

EBEFU, = aexpBU,)) FZFE AR A B R H & BB o F1 b E. 55 =FEHE.
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) Uz = ae.z'p(bU,)

T,=35.15K  Uy=a+8U, (Uil,=a+bsLaill) (LaU2=a+bxUD
UV UN UV Ll LU, Ups/V LU, Uyx [V
1 0.19 0.135 —1.698 —1.661—2.002 0.112 -—2.002 0.134
2 0.2 0.168 —1.032 —1.609—1.671 0.173 — 1.671 0.188
3 0.21 0. 26 —0.365 —1.561 —1.347 0.260 —1.347  0.263
4 0.22 0.369 0. 301 —1.514 — 0.997 0.385 — 0.997 0. 368
5 0.23 0.51 0. 967 — 1.470 — 0.673 0.539 — 0.673 0.516
10 6 0. 24 0.72 1. 623 — 1.427 — 0.329 0.800 — 0.329 0.722
11 7 0.25 1.025 2.299 —1.386 0.025 1.127 0. 025 1.011
12 8 0.26  1.408 2. 265 — 1.347 0.342 1.568 0. 342 1. 415
13 9 0.27 1.998 3. 631 —1.309 0.692 2.153 0.692  1.981
14 10 0.28 2.768 4. 297 - 1.273 1.018 2.923 1.018 2.773
15 11 0.29 39 4. 963 —1.238 1.361 3.926 - 1.361 3. 882
16 12 0.3 5.54 5. 630 —1.204 1.712 5.220 1.712 5.434
17 13 0.31 7.602 6. 296 —1.171 2.028 6.8771  2.028 7.608-
18 14 0.32  10. 426 6. 962 ~1.139 2.344 8.9811  2.344 10. 651
19 r 0. 87738844 0.99751818 0. 999971777
20 a — 14, 35378681 - 1.30E + 05 . 2.25E — 04
b 66.61120879 8. 406882135 . 33. 64375615
22 k 1. 37959¢e—23
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p= TS p= e %‘T; €

HTHERLKEXRANUAREAR ERRABHER ERETHAXRAR . HEXREELY

iy

)

r =
V& - )G = y)
B or= U0, -, -U, (5)
V@ - U@ - 0
ALNER r NESREOM 1 ZE (MR 1 AHEHINABBET.
b MFRFENT.U, = aUt AR HEEHR DR EERS.
InU, = lna + 6lnU, (6
B3 ) R
a = exp(Inl;, -- BInl7))
p InU, « InU, - Inl’; InU, e

InU? — Inl7?



374 HERXFFRBAAFR) $29%
InU'InU;, — InU, - InT, (8)
Y (07 — In0?) nU% — TnlD)
. MFHPEB .U, = aexpBU,) RERNMBE R IREREE.
InU, = Ing + U, (9
B RTH
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REERRHNEMa AR THE=FEHX ELTRMUEBHNENEEREU, 2FHRAZAEER
R BAHNATENTYMEU, BE -~ 1 HRATLLEHEREBRRESEN. B2 R5HHK
R U, = aexpb U,) ag#sma%ws U /T = BU BV se/k = 6T 8] ;

= ¢/bT (12)
WiEd EARERRESHRE .
%2 T = 345.15K Bt B %

A B C D E F G H I
1 UERZSEHNELRIELH
2 SRHGE guEn  REERU, = o} BER

U, = aexp(dU))

3 T, =291.15K Uy=a+bU, (LnU,=a+6b6*LalU1) (LnU2=a+b6xU1)
4 vywv u/w U,V LaU; LaU, U,*/V  LnU, U,V
5 1 0. 35 0. 07 —2.129 — 1.050 — 2.659 0.061 — 2.659 0. 069
6 2 0.36 0.101 —1.394 —1.022 —2.293 0.096 — 2.293 0.102
7 3 0. 37 0.154 — 0. 660 —0.994 —1.871 0.151 —1.871 0.153
8 4 0.38 0.228 0. 075 — 0.968 —1.478 0.233 — 1.478 0.227
9 5 0.39 0. 336 0. 810 —0.942 —1.091 0.357 —1.091 0. 338
10 6 0.4 0. 498 1. 545 ~ 0.916 — 0.697 0.542 — 0.697 0. 504
11 7 0.41 0.736 2. 280 — 0.892 — 0.307 0.812 — 0.307 0. 751
12 8 0. 42 1.132 3.015 — 0.868 0.124 1.206 0.124 1.118
13 9 0. 43 1.674 3.750 — 0.844 0.515 1.774 0.515 1. 666
14 10 0.44 2.473 4. 485 —0.821 0.905 2.587 0. 905 2.481
15 11 0. 45 3. 65 5. 220 —0.799 1.295 3.741 1. 295 3. 695
16 12 0. 46 5.592 5. 955 —0.777 1.721 5.366 1.721 5. 505
17 13 0.47 8. 299 6. 690 —0.755 2.116 7.636 2.116 8. 200
18 11 0.48 12.125 - 7.425 — 0.734 2.495 10.7881 2.495 12. 213
19 r 0. 841504638 0. 998927714 0. 999972361
20 a — 27. 85232308 1.83E + 06 6. 04E — 08
21 b 73. 49406593 16. 40943172 39. 84496063
22 k 1. 38093E—23
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a. RYEEST .
Caff (A1 9 D20 HBTEH) BAER= INTERCEPT($C$5.$C$18,$8$5:$B$18)”
b1 (A1 % D21 BTTH) HAEE“=SLOPE($C$5:$C$18.$B8$5:$B%$18)” ‘
r{ (B 1% D19 BT i ARKE“= (14 *SUMPRODUCT($B$5: $B$18,$C$5:
$C$18) — SUM($B$5:$B$18) »SUM($CS$5:$C$18))/SQRT((14 x SUMSQ($B$5:
$B$18) — SUM($B$5:$B$18) " 2) x (14 *SUMSQ($C$5: $C$18) — SUM($C$5:
$C$18) " 2))”

X B AT SUMPRODUCT (&9 #1) . SUMSQ(E A #)SQRT (F H48) SUMGR ) EH ¥ .
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rf (F1 % EL9 BT HARE“= (14« SUMPRODUCT($E$5: $E$18, $F$5:
$F$18) — SUM($E$5.$E$18) xSUM(SF$5:$F $18))/SQRT((14 »SUMSQ($ESS5:
$E$18) — SUM($ES$5:$E$18)" 2) » (14 *xSUMSQ($F$5: $F$18) — SUM($F$5:
$F$18)" 2)”

c. FEHEH ,

el Rl Excel P LN ®RECKE U2 BB RX . WE 1 9 H5:H18.

a fi (A1 H20 BT #) ¥ A K “= EXPONTERCEPT($H $5: $ H$18.$B$5:
$BS18N”

b (1 H21 BT AR =SLOPE($ H$5: $H$18.$B$5:$B$18)”

(B H19 T AR = (14 SUMPRODUCT($B$5. $B8$18.$H$5:
$HS$18) — SUM($B$5.88%18)«SUM($H$5:$H $18))/SQRT((14 » SUMSQ($ B$5:
$B$18) — SUM($5B%35:8$8%18)" 2) % (14 *SUMSQ($H$5:$H$18) — SUM($HS5;
$H$18)" 20"

a bHUR GG EAT A BB U ARG — 1T LAE 2 36 B B BGE 89 A e b THIRA
(12) RABT R &, L 18R Y9 56 38T LGS if Excel FHHBRGESMMARER.
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Bata processing method for Boltzmann’s constant experiment

DONG Hai-kuan
(Department of Physics. Bohai University, Jinzhou 121013, China)

Abstract ; Based on the feature relations of electric current and voltage of P—N knot, the Boltz-
mann’s constant is calculated precisely with three fit methods— linear regression method, power re-
gression method. exponential regression. and disposal methods of the experimental data of
Boltzmann’ s constant with Microsoft Excel is introduced to simplify the calculation and experiment.

Key words: Boltzmann’s constant; data processing; linear regression; Microsoft Excel



